EARAZROREIERT — 2 N—XBISY —F 2018548198 (&) 1EXFH4H

Ll NERAER Y TR 3K ‘ (%E] W ‘ (Emm  — | 4 (&) 18000 &
[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
CIv K 3 | XH#EZ 1:59.7 2-2-1-1 . - 477 | EEESBIE (KH)
1N 4 |/¥XRTOX # 50 (5_9) %5 8 () |I¥VINL=T ()
RIZART=oF— BvYTTIATUR Hhx%y K
9 o g el |5 At :59. —-3-3- . — RISTR (KH)
217|7 | EZRITNRAH R i 3 ll 1(15/92)8 3-3-3-2 |38.4 2 (4:142) s G
IANRZATNG B:TSANARAHY R TR
. EIHEER : -5-6- - A (K3
21 3 RIS ANrRI2 o8 | B 2.(020>.2 4-5-6-3 | 38.6 1 ;4_7; e
L:d—IWRT7Y2—)b B:yagyyii EVFAT -4
07 o i : -6-5- - ERER (KH)
ARNEZIZEE: i3 e 2.(071).7 7-6-5-5 | 40.1 4 ?:337) *mz&
R:J7—3IY7> B:FVEVEY N> T =G
NN R T 02, 7-7- 2| - EFRE (k)
5 6 STFS 94U R % 3 o (21012/20) 6-7-7-6 | 40.2 6 ;1+837) ‘;E#%fﬁz
R:7ROAFLTEL BV ITII)T R 12 s
S, 0 N S (2PN : ==, = Y= (/i)
6155 k=>>a>z> b 4 g 54F.I0 (29'(3?%;3) Sazd 454 ! (4_172) E#\—/\
R:TUHAZRIL K B:TTNILY it
N . #1138 : -1-4- - miAdE (KH)
7 o=t bA—X it 3 o (29{9.;3) 1-1-4-7 | 47.7 5 (g:) e
L A—XFX > TEL B:RXILINTEAR Eielllk=yribae]
@ 1 — S —EBIEf
13—7+— 2,4,7,3,5,6,1
23|=7r= 2,4,7,5,3,1,6
Jol=5r= 4,5,7,2,1,3,6
40—+ — 4,7,3,5,1,6,2
[ N3
BB 4 340H 714K 4-7 160H B = 4-7 500 3EHE 3-4-7 190H
8 B 4 180F4 3-4 120H B H 4-7 1,120 K31 4-7-3 1,550M
7 1704 3-7 120M

ABICOVWTRDTEEERROODE. TR LIV,




